



姓名: \_\_\_\_\_

日期: \_\_\_\_\_ 分数: \_\_\_\_\_

$$(-6)^2 + (-6) =$$

$$1^{(-1)} - (-1) =$$

$$4^{(-1)} - 7 =$$

$$(-4)^{(-2)} + 6 =$$

$$2 + 8 =$$

$$7^{(-1)} - 6 =$$

$$10^{(-2)} + (-7) =$$

$$1 - 5 =$$

$$4^{(-2)} + 2 =$$

$$6^{(-2)} + (-1) =$$

$$9^2 - 2 =$$

$$9^2 - 5 =$$

$$10^2 + (-9) =$$

$$(-3)^{(-1)} - (-10) =$$

$$10^2 + (-1) =$$

$$4^2 - 8 =$$

$$(-5)^0 - (-3) =$$

$$(-2)^2 + 2 =$$

$$1^{(-2)} - (-10) =$$

$$8^2 - (-3) =$$



姓名: \_\_\_\_\_

日期: \_\_\_\_\_ 分数: \_\_\_\_\_

$$(-6)^2 + (-6) = 30$$

$$1^{(-1)} - (-1) = 2$$

$$4^{(-1)} - 7 = \left(-\frac{27}{4}\right) = \left(-6\frac{3}{4}\right)$$

$$(-4)^{(-2)} + 6 = \frac{97}{16} = 6\frac{1}{16}$$

$$2 + 8 = 10$$

$$7^{(-1)} - 6 = \left(-\frac{41}{7}\right) = \left(-5\frac{6}{7}\right)$$

$$10^{(-2)} + (-7) = \left(-\frac{699}{100}\right) = \left(-6\frac{99}{100}\right)$$

$$1 - 5 = (-4)$$

$$4^{(-2)} + 2 = \frac{33}{16} = 2\frac{1}{16}$$

$$6^{(-2)} + (-1) = \left(-\frac{35}{36}\right)$$

$$9^2 - 2 = 79$$

$$9^2 - 5 = 76$$

$$10^2 + (-9) = 91$$

$$(-3)^{(-1)} - (-10) = \frac{29}{3} = 9\frac{2}{3}$$

$$10^2 + (-1) = 99$$

$$4^2 - 8 = 8$$

$$(-5)^0 - (-3) = 4$$

$$(-2)^2 + 2 = 6$$

$$1^{(-2)} - (-10) = 11$$

$$8^2 - (-3) = 67$$